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Ty {Running under the :egm cicty )
‘% . HALF YEARLY EXAMINATION(2017-18)

AN SUBJECT: MATHEMATICS, CLASS: IX

Time Allowed: 3 Hours Maximum Marks: 80
Instructions:

- All questions are compulsory.

- Section A carry 6 questions of Imark each

- Section B carry 6 questions of 2 marks each

- Section C carry 10 questions of 3 marks each

- Section D carry 8 questions of 4 marks each Wiy

Section A (1 mark each)
_/]./Wi ie an irational number between 2.4 and 2.5, o '
1/Wlﬁ: is coefficient of x= in 42 + 2x + 1.
/,.rlﬁ»hn.h quadrant will the point lie if ordinate is 4 and abscissa is -67

b. ‘4/-’W rite the complement of 737,
3~ What is the degree ol polynomial 4x* + 0x° + 2x + 7,

}/ﬁVhat is the abscissa of (3.-4),

Secngn B (2 marks each L
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nd the decimal expansion uf-é.
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11. Find the value of polynomial 6x* — ;
12. In the given figure. X and Y are the
AX=CY.
Show that AB=B(.
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13. Rationalize the following-
e ViV
88 s Va7

k whether 7+3x is a factor of 3.
1 hich quadrant or on which axis &
(3.-6) . (5.8) . (0.2) . (-1.3) . {-5.0) . &
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AB is pa
b) O is also mid point of BC
21. Find the area of trianghe with two sides 0
of 42 cm.
22, In an isosceles trias with AB=AC
BE=CD; Show that A
.*.;F. e
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wing points lie.
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23, Factorize x* — 23x* + M2x - 120 \
/cld-(ind the value of "k if the polynomial p(x) = 4x* = 12x? + 14x — k when divided
by 2 x — 1 leaves -

pduced wo pomnts - and D
respectively. If the bisector of BO and CO of £€ EBCD respectivels et ol

point 0. then prove that ZBOC = 90° — %f_ﬂ AC

8]

ty (V5 + V2)?
e following:
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28. Construct the following angles
]
- & 120° by 223
29, In the figure given below it is given that £8

A NABD =/CBE
B AE =CD
. ) ANAOE = A\ COD

ig,,l‘.?ﬁﬁ’s'iﬁm a triangle XYZ in which &

I Tem.

Construct a triangle ABC in which |
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